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1. (a)

(b)

(&)

~

Aitempt all questiony.
Al guestions carry equai marky
a5yl % 391 H/FT
gt g¥ @ AT g §

“Tax Planning is not possible without tax manage-

ment.” Discuss.

“ER OIS I AEM & AT §vs Ag 2 fedea
HIFT | 5

Explain the provisions with regard to dividend tax
under sectitons 1150, 115 P and 115 Q.

g1 115 O, 115 P 2T 115 Q T 3fale &y &

9 Falag IwEy oWy wWiay 10
Or (319dT)
As a tax consultant advise your clicnt ag 10 how to

mintmize his tax lability from the business of in-
dustrial undertaking other than infrastructure

developmeni.

T VIR §3 ¥ OH 3 yafaaw | 9o g
f& (Fg "R TRREE GEHE ¥ 3w SAl9he
INFH T FFUY H AT IeTAl T ogAIA e W
TFHA E 7

Suggest as to how an undertaking, which derives
profits from the business of operating and main-

taining hospital, minimises ifs tax hability.
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ams Afsy F wwmam % YaEd S agEm ®
et @ WE 7R aren YR fRR g Sl
FEaE AqH T AFA 8 8

2. The net profit of ABC Ltd. as per profit and loss ac-
count for the vear ended 31.03.2012 amounted to Rs.
45.00.000 after debiting. crediting the following items :

31.03.2012 & gw ¥ & @-Ef1 @ F F{ER ABC
Lid. % v @ refated g8 31 T T I A
& a7 Fo 45,00,000 =1

[tems dehited to Profit and Loss Account:
era-elE 4R ¥ e # T AT
(@) Provision for income-tax— Rs. 2,00,000

yrgaE o (ot Taygr——- %o 2,00,000

(b) Provision for diminution in the valuec of invest-
ment— Rs. 1,50,000

AT ¥ oo § F4 3 Ay mayE— ¥o 1,350,000
(¢} Wealth-tax paid— Rs. 2,00,000
y3-a {ear Ta-— Fo 2,00.000
(d) Securities transaction tax paid — Rs. 50,000
wza wlaufd gemael :&— %o 50,000

P TO.
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Transicr w0 Gerneral Reerve— Rs. 73 000

A AT (5 # HAam—%e 75,000

Provision {ur gratuity based on actuarial valua-
tion— Rs. |50L000

SHifFET geoiss m Fafis 39T & (|0 JEurT-—
Eo 1.50.000

Provision for losses of subsidiary company— Rs.
1,00,000

wErgss FwAl @ AEE & Ay wEEeH— %e
100,000

Expenditure to earn agricultural income— Rs.
30.000

T A & 3997 T T FE— Fe 30,000
Expenditure to earn LTCG exempt under scction
10(38)— Rs. 1,20,000

qF 10(38) # #ATIT B2 Wd LTCG & &9 &
fow =9— ¥o 1,20,000

Depreciation  {including depreciation  ofRs.

1,50,000 on revaluation)— Rs. 3,00,000

qTTFIE  (LAHTEITA W Fo 1,50,000 FH HTIGE
afzdy— ¥ 3.00,000

Items credited to Profit and Loss Account :

ATY-2F A/ & 97 % T3 Y
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(1) Amount credited to Profit & Loss Ajc from Spe-
cial Reserve— Rs. 5,00,000

iy aefed fafy ¥ @y o@g § w8
gfei— %o 5,00,000

(b) Amount credited to Profit & Loss Afc from
Revaluation Reserve— Rs. 2,00,000
eaiaA anfed fify § @mefs 9@ F &
¥ ufe— %o 2,00,000

(¢) Agricultural income— Rs. 1,00,000

Yy AT— ¥o 1,00,000

Brought forward losses and unabsorbed depreciation
as per books of the company are as follows :—

Previous Year Brought Unabsorbed
Forward Loss Depreciation
(i) 2008-09 2,00,000 5,00,000
(if) 2009-10 - 3,00,000
(iif) 2010-11 10,600,000 2,00,000

You are required to compute the tax liability of the
company for the AY. 2012-13.

S0 @ (EE & sLEn ura atE st srawifd
qeTEd 39 NAR ¥ —
gd o st gifa  EEvniud AEagTa

2008-09 2,00,000 5,00,000
2009-10 - 3.00.000
2010-11 10,00,000 2,00,000

P T O.
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A fAufo a8 2012-13 & A0 a0 3% SRua &
AMFAT HET 2 ) 15
Or (319am)

{a) Mr. X, 63 vears. a resident Indian, works in an In-
dian company and carns salary of Rs. 2,00,000
during the previous year 2011-12. He also derives
an income of Rs. 1,00,000 from business in India.
He receives commisson of Rs. 3.50,000 from a
company in UAE. The tax paid on commission in
UAE is Rs. 50,000, Dividend received by him from
a company in UAE 15 Rs. 75,000. Tax paid on the
same in UAE s Rs, 13,0000 Mr. X also receives
cash gifts [ Rs. 3,00,000 from non- relative in
India.

Compute the tax hability of Mr. X for the assess-
ment vear 2002-13. India does not have a double
tax avoidaace treaty with UAL.

63 AT ardly fErE! g e U 9y @ §
T Hidl & HT qd &6 2011-12 § Fo 2,00,000 W
a9 AT Fm 24 3W wwg § EwTE | %o
pA0000 = o3E s ArE ¥ IW Golede F TH
TS F Fe 3,50,000 FHYA A e | goredo H
SHTE W oEH T & SO.000 §1 FolUoFo T TH
FUA W WG JI9W Fo 75000 € | 3H W JoUeFo T
=9 9 Be (3000 31 ‘maw # W@ § @ jegad
A Fo 300000 ¥ Fow IwgR o e frefm ad
M12-13 3 (a0 ‘wgw # S adl AlgEiad SN |
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Discuss if the trans{er pricing provisions under the
Income-iax Act. 1961 are attracied in respect of

the following transactions:

frgem gafsu fF 3@ wrEE Afafom, 1961 &
ST ENaiEs IYEY Aefatgd 9929 W ar aa
/1 Marketing management scrvices by XYZ

l.id.. 1 Chinese company to its Indian
subsidiary XYZ Ltd.

vw i g, XYZ Ld. g s 9l
e Sud, XYZ Lid. 9 a7 wdy S99
(i) Leasc of transportation vehicle by ABC Lid.

from X Ltd., a US company. X Ltd. guaran-
tees 154% of the borrowings of ABC Lid.

rF wE &, X Lid 8 ABC Lid. &/
qfges g3 & fau vgry X Lud. §70 ABC
Lid. % 15% 3910 a1 A )

(i) Sale of industrial design by A Lid. to LMN
Lid.. a British company. which holds 29% of
the shares of A Lid.
A Lid g0 U= fafrm §Udt LMN Lid. #,
faas A Ltd. § 29% VI & w NS
AT 3 fas |

P T O.
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3.

iy Mo X, a resident Indian, holds 25% vquity
share capital in PQR Ltd.,, =z domestic
company. PQR Ltd. hires trucks owned by
Mr. X's son and pays rent of Rs. 2,00,000.

o CaErdt wRdls #f ww T IEh A
PQR Lid. ¥ 25% sfa=dt 9wt ¥t 31 POR
Lid % 0%F & T3 5 @WIRE @ g6 "id
Ty A $ it o 2,00,000 9T & B 8

A and B arc two partners in a business firm and share
profits and losses cqually. They agree to draw Rs.
30,000 as salary from the firm. They contibute Rs.
10,00,000 cach as their capital contributon to the firm
and would receive interest at the rate of 12%. During
the previous year 2011-12 the business repotts profits,
before deduction of salary and interest but after
deduction of LIC premium of Rs. 20,000 cach paid by
firm on the lives of A and B and car expenses of Rs.
10,000 each for personal usage of A and B, of Rs.
2,00,000. A and B havc interest on company deposits

of Rs. 40.000 and 30,000 and contribution towards PPF

of Rs. 20,000 and 10,000 respectively. They are plan-
ning to convert partnership firm into a private lirited
company. Assuming A and B are two sharcholders and
directors of the company who will draw Rs. 30,000 as

salary, whiie other details remaining the same, suggest
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if the firm should be converied into the private imited

company or not.

A it B wH =EEIfEs & 8 WwaR § A aals A
SHT F WEWSE B 5| 3 W § %o 30,000 477 F
w9 4 @7 99 fFa 80 Yd® 3w H #T i AR
¥ w9 8 10,00,000 Fo F sHvEH o, [F¥W 3% 12%
71 W = e gdad 2011-12 & A 3T A
=% & seid § U 9| A iU B ¥ sftad W owd g
AT ¥ fou 528 Fo 20,000 & staq #w fm sfiraw
= wAd it A s B F O suEm & T ad3F &
F-EE T Fo 10,000 T IR F R =EET  Fe
200,000 = W Yfad e @ 21 A S B HOHETW:
Fo 40,000 3T Fo 30,000 FWA FH W AR & A AT
sfiysg (i © F9: go 20,000 3% 10,000 3wz 31 9
FRTd v W YeaT faree @9 A §ged @ AW
SR ¥ oz a W F A T B S H & waE
st FRwE @7 S 39 F 89§ Fo 30,000 I HK
ad =i wd wh, geR AR fm g W oS ARd
fafue Fof § Fgo Fifeq A1 T8 15
Or (319dT)
ABC Ltd. has to distribute Rs. 50,00.000 as deferred
dividend to its equity sharcholders. It has the option of
issuing 4 year 12% redeemable preference shares or 4
year 12% redecmable debentures. Assuming that the
company has to pay tax on its income ai the rate of
30% and at 15% on dividend while sharcholders have

P T O.
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it
Lo pay tax af tiie rate ol 30% on dividend and interest,
suggest 11 the company should ssuc bonus shares or

bonus debentures to its shareholders.

ABC Ltd. ¢ 3v3 =faadt wimwnial & %o 50,00,000
AT www & ey ¥ a9 w0 8 38F ue 4
ayig 12% Wtuftg AEEE WE AT 4 FEF 12%
Hedy wogl 3 ArEd g fawe B o9y wEe (W
U W oHuA AT W 30% W T 9 S @iy 6t
156z T =T T 97 297 2 A NI @ wisiw i
®TE W 306 ¥ T U &L ¥ B, R A &
T ow ¥Td TEw T S FiFE v I = 90
o FTE B 15

Mr. A carries va a business of cotion textile. He wants
to acquire a machine for Rs. 1,00,000. He can (1} Pur-
chase the machine with own funds, (if) Borrow Rs.
1,00.000 from bank at the rate of interest of 10% per
annum (o purchase the machine and repay the entire
loan at the end of len years, (iif) Obtain the asset cn
lease, {or the annual lease rent of Rs. 18,000 for ten
years with lcasc management fee of Rs. 2,000 to be
paid at the time of the agreement. The expected life of
the machine is 10 years after which it will be discarded
and sold at the depreciated price. Assuming the rate of
tax to be 32-445% and depreciation rate to be 15%,
suggest whether the assessee should acquire. the
machine with own funds or borrowed funds or take the
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assct on lease while taking the discounting rate to be
10%.

# A gl TUg T FIWA @ § 1 7% Fo 1,00,000 F
wE gyl JT =iEs g1 98 () Avig w9 (3w 8} wde
TEd € () el @ded % faq 10% arfis =9 9 6
¥ To 1,00,000 W & FFA ¢ st eg 5d F < H W
0 F GFA T FES 8, (i) TRFHE U3 W A g
g (F9es fou g oy & (ou aifds 757 fHaa1 so 18,000
gm sk WA & g9 W Fo 2,000 U WEy yEw
A qvE W Yy stad zg gy @ faees e 3
fagre fean wrdm it gegglad wigd 91 99 fem
IR gy qEEFR fif T T 32-445% B AT qEE-
Y T 15%, daig ASg 5 o [uffE & 39 fAfa
¥ myfta o1 arfee siyw IuR fAly ® dAgd@ 109 92
Z0 od gU 97 T 15
Or ( Agdn)

(@) “Dividend reccived by Indian companies from
specified foreign companies would be subject to a

concessional tax treatment.” Explain.

“fafafdp fa2el SufTgl @ o9& awmdl g/ 9a
Ay fEEd #=-Asrm & wwdy 3w’ Wy
HAU 7

(h) Can a person Resident in India seek Advance

Ruling from the Authority for Advance Ruling?

P T O
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5.(a)

()

(a)

i2

1 v # fAardt Fd sulfw afan &y sgaen
My @ fafvilg g @ Aim s g=a1 22 8

What arc different methods of computation of
arm’s length price under section 292C? What can
be the most appropriate method of determintion
of arms’ length price?

g1 292C & fanq aral ued gro svw # 99 @ E
Fod & AMHAT ) fafg= gonfast 33 §7 30
fagfm ¥ fau wdifys I gel =7 & wa
27 8

Explain the tax implications of the transfer of as-
sels between holding and subsidiary company.

(357 A wergs SuAl 45 @9 gfgyfaat & g

& a-fAfgmed Wy ;| 7
Or {(3g4an)

Mr. A purchased 2000 equity shares in XYZ Ltd.

on July 24, 1996 for Rs. 5 per share. XYZ Ltd.

goes into liquidation on November 24, 2011. The

balance sheet of the company as on November 24,

2011 is as under :
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20,000 Equity! 15000 Shares.

Shares £ 200000 jof POR Lid, | !4.00.000

iAccumulated | ECash in Hand 10,00,000

Profits 15.00,000 | ll

Provision fori_ ‘

Income Tax | 7.00.000 | o

Total 24.00.000 T ] | 24,00,000
SR B . i i

Additional information :—

(i) The shares of PQR Ltd. werc acquired for
Rs. 4,50,000 on April 24, 2009.

(i) On Hhquidation, Mr. A gets 500 shares of
PQR Ltd. and cash of Rs. 30,000. The market
value of shares of PQR Ltd on November 24,
2011 is Rs. 1,50,000.

(iii) Mr. A transfers SO0 shares on May 16, 2012
for Rs. 1,70.0000.

Compute the tax liability of the company and M.
A for the assessment years 2012-13 and 2013-14.

st A 3 XY7 Ltd. § 26 §@F 199 & %o S ¥fd
B §E F 2000 faed W @he . XYZ Lid. #
24 FF=L 2011 @ uftgmes & T 24 FFEy
2011 = &1 & qET9T 39 NI T

PT.O.
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T

{2 1 POR  Lid.
L 200,000 14,00,000
gaedt v T gés 5000 B
Hfaa wrw 1500000 lgwes A58 | 10,00,000
sEER w
| 7.00,000
o wrEars |
@ TT24.00,000 gy | 24,00,000
— ; i : o

(b)

HlAfs =1 —

i

()

(iti)

POR Lid % 9130 %o 450,000 ¥ 24 avid
2009 T Mg U &

qizEmos 7T 41 A @ PQR Ltd. & 500 919X
ST Fo 30,000 FFe fMed €1 PQR Lid. %
TEY W OFAER @ 24 TIEN, 2011 F Fo
150,000 2 4

#1 A 16 5¢ 2012 F 300 HT Fo 1,70,000 F
HAw ™ ¥

it &d 2012-13 31 2013-14 & fau g st
i A T FRIA AT FHATI 8

ABC Ltd. is engaged in manufacture of cars. It

transfers the division through slump sale on
January 1, 2011 for Rs. 17,00,000. The expenses of
transfer are Rs. 1,00,000. The balance sheet of the
company of March 31, 2011 is as follows :—
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'@ﬁcdpm” 12.00,000 [ and [ 2. 50,000
chvaiuauon : 2.00.600 iBm}de | 4.00.000
Reserve . 74l )
[Bills Payable  1.00.000 |Pldn and | 2.00,000
" 1 Machmcr\ _L___ﬁ
Creditors | 2:80.000 Bl 40,000
| _*7; _ ___jEccuydb!es ' )

l 'Debtors , 1-50,000
o —"T'_—'ku,c; 1740000 |
% 7_17 80,000 |To: bl f?so 000

Additional information :—

(i The Plant and Machinery und Building are

shown at their written down valuc,

(ii) The Land was purchased on July 26, 2006
and revalued in 2010. The amount was

credited to Revaluation Rescrve Account.

You are required to compute the amount of capi-
tal gain in slump sale.

ABC Lid. =0 & fafmin s 2 38 1 99l
2011 & Muse fo) & 3 wam & %o 17,00,000
¥ siqfta = 24l ¢ sfawo-=3y o 1,00,000 ¥ 1 31
wrd, 2011 T S S g9 38 TH R —

PTO.



AR A 100,000 |‘\:t,n T R30,000 ]

v 2,00,000 igaq T 000 | |
s e \

&7 o " 1,00,000 !g’q’a uy o000
i——______d ;q‘%ﬁ:l“f‘ : ;
SRk 386000 arw fam | 40000 |
L o ;em ©1.50,000

l_ D =i { 1,40,000

w1 1780000 @m 17.80,000

wAfofrg gad, —

¢y ®Ay A OEizh W vET T 3 HAwEiEw
yeE T eViET T R

(i) 4" 26 9= 2006 ¥ ghS oF of A1 2010 §
e qAYend foa vE @A (A{eRiE
srlen (9fy &% & am = o

frgge o # st eiweng s ulfo siywlaq
ESic Il 7

4900



